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Topic:- DU_J18_BELED_Topic01

िन� म� से कौन सा पद जीवन के अंत की ओर संकेत नही ंकरता है ?

[Question ID = 17742]

1.  [Option ID = 40960]

2.  [Option ID = 40962]

3.  [Option ID = 40956]

4.  [Option ID = 40958]

Correct Answer :-

 [Option ID = 40958]

[Question ID = 17743]

1.  [Option ID = 40969]

2.  [Option ID = 40967]

3.  [Option ID = 40965]
4.  [Option ID = 40963]
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Correct Answer :-

 [Option ID = 40967]

[Question ID = 17752]

1.  [Option ID = 41003]

2.  [Option ID = 41005]

3.  [Option ID = 41001]

4.  [Option ID = 40999]

Correct Answer :-

 [Option ID = 41005]

[Question ID = 17749]

1.  [Option ID = 40989]

2.  [Option ID = 40993]

3.  [Option ID = 40987]

4.  [Option ID = 40991]

Correct Answer :-

 [Option ID = 40993]
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[Question ID = 17746]

1.  [Option ID = 40975]

2.  [Option ID = 40979]

3.  [Option ID = 40977]

4.  [Option ID = 40981]

Correct Answer :-

 [Option ID = 40975]

Topic:- DU_J18_BELED_Topic02

[Question ID = 17776]

1.  [Option ID = 41095]

2.  [Option ID = 41096]

3.  [Option ID = 41097]

4.  [Option ID = 41098]

Correct Answer :-

 [Option ID = 41098]

[Question ID = 17775]

1.  [Option ID = 41092]
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2.  [Option ID = 41093]

3.  [Option ID = 41091]

4.  [Option ID = 41094]

Correct Answer :-

 [Option ID = 41091]

[Question ID = 17777]

1.  [Option ID = 41102]
2.  [Option ID = 41101]

3.  [Option ID = 41100]

4.  [Option ID = 41099]

Correct Answer :-

 [Option ID = 41101]

[Question ID = 17778]

1.  [Option ID = 41104]

2.  [Option ID = 41105]

3.  [Option ID = 41106]

4.  [Option ID = 41103]

Correct Answer :-

 [Option ID = 41103]

[Question ID = 17774]
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1.  [Option ID = 41089]

2.  [Option ID = 41087]

3.  [Option ID = 41090]
4.  [Option ID = 41088]

Correct Answer :-
 [Option ID = 41088]

Topic:- DU_J18_BELED_Topic03

[Question ID = 17783]

1.  [Option ID = 41123]

2.  [Option ID = 41124]

3.  [Option ID = 41126]

4.  [Option ID = 41125]

Correct Answer :-

 [Option ID = 41126]

[Question ID = 17781]

1.  [Option ID = 41118]

2.  [Option ID = 41115]

3.  [Option ID = 41117]

4.  [Option ID = 41116]

Correct Answer :-

 [Option ID = 41117]
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[Question ID = 17782]

1.  [Option ID = 41122]

2.  [Option ID = 41119]

3.  [Option ID = 41121]

4.  [Option ID = 41120]

Correct Answer :-

 [Option ID = 41119]

[Question ID = 17780]

1.  [Option ID = 41112]

2.  [Option ID = 41114]

3.  [Option ID = 41113]

4.  [Option ID = 41111]

Correct Answer :-

 [Option ID = 41113]

[Question ID = 17784]

1.  [Option ID = 41129]

2.  [Option ID = 41127]

3.  [Option ID = 41130]
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4.  [Option ID = 41128]

Correct Answer :-

 [Option ID = 41130]

Topic:- DU_J18_BELED_Topic04

[Question ID = 17906]

1.  [Option ID = 41618]

2.  [Option ID = 41615]

3.  [Option ID = 41617]

4.  [Option ID = 41616]

Correct Answer :-

 [Option ID = 41617]

[Question ID = 17908]

1.  [Option ID = 41624]

2.  [Option ID = 41623]

3.  [Option ID = 41626]

4.  [Option ID = 41625]
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Correct Answer :-

 [Option ID = 41626]

[Question ID = 17904]

1.  [Option ID = 41610]

2.  [Option ID = 41609]
3.  [Option ID = 41608]

4.  [Option ID = 41607]

Correct Answer :-

 [Option ID = 41607]

[Question ID = 17905]

1.  [Option ID = 41613]

2.  [Option ID = 41612]

3.  [Option ID = 41611]

4.  [Option ID = 41614]

Correct Answer :-

 [Option ID = 41612]
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[Question ID = 17907]

1.  [Option ID = 41619]

2.  [Option ID = 41622]

3.  [Option ID = 41621]

4.  [Option ID = 41620]

Correct Answer :-

 [Option ID = 41620]

Topic:- DU_J18_BELED_Topic05

 
 
Select any one of the following words from the passage that is appropriate for the given sentence. No one could think of him as the thief
as he entered the bank in …………. . [Question ID = 17961]

1. attire [Option ID = 41836]
2. unseen [Option ID = 41832]
3. camouflaged [Option ID = 41838]
4. disguise [Option ID = 41834]

Correct Answer :-
disguise [Option ID = 41834]
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Select any one word/phrase from the passage that literally means ‘same as surrounding people or things and therefore not easily
noticeable'. [Question ID = 17957]

1. Survival [Option ID = 41817]
2. Blend into [Option ID = 41819]
3. Put on [Option ID = 41816]
4. Disappear from view [Option ID = 41821]

Correct Answer :-
Blend into [Option ID = 41819]

 
 
Based on the passage, which of the following statements is incorrect? [Question ID = 17962]

1. Chameleons can conceal themselves in a matter of few seconds [Option ID = 41843]
2. Some insects and animals are able change according to the surroundings to save themselves from being eaten [Option ID = 41841]
3. All creatures who camouflage are poisonous [Option ID = 41845]
4. Some predators also camouflage to hunt [Option ID = 41839]

Correct Answer :-
All creatures who camouflage are poisonous [Option ID = 41845]
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The chameleon and octopus in the above passage have been referred to as celebrities among [Question ID = 17958]

1. predatory creatures [Option ID = 41827]
2. animals who are hunted [Option ID = 41823]
3. creatures who can disguise themselves [Option ID = 41825]
4. insects who can camouflage [Option ID = 41829]

Correct Answer :-
creatures who can disguise themselves [Option ID = 41825]

 
 
In the context of the passage, nature has been referred to as a deeply thinking entity because of [Question ID = 17955]

1. the variety of creatures that are there [Option ID = 41812]
2. how animals have evolved [Option ID = 41814]
3. the difference in the nature of food habits of animals [Option ID = 41813]
4. the unique ways in which certain creatures are able to camouflage themselves [Option ID = 41811]

Correct Answer :-
the unique ways in which certain creatures are able to camouflage themselves [Option ID = 41811]

Topic:- DU_J18_BELED_Topic06

Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). …………….. part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasad in temples and toddy. But over the years, these utilities have become (27). ……..… For instance, earlier the hard outer wood of the
palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28) .……… the
introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ….., plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). …… used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017

 
Choose the option which cannot be used to complete the sentence (28)

 

[Question ID = 18131]

1. since [Option ID = 42524]
2. before [Option ID = 42515]
3. with [Option ID = 42521]
4. after [Option ID = 42518]

Correct Answer :-
before [Option ID = 42515]

Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). …………….. part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasad in temples and toddy. But over the years, these utilities have become (27). ……..… For instance, earlier the hard outer wood of the
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palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28) .……… the
introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ….., plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). …… used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017

 
Choose the option which can be used to complete the sentence (27)

 

[Question ID = 18130]

1. outdated [Option ID = 42508]
2. necessary [Option ID = 42505]
3. important [Option ID = 42511]
4. underlined [Option ID = 42513]

Correct Answer :-
outdated [Option ID = 42508]

Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). …………….. part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasad in temples and toddy. But over the years, these utilities have become (27). ……..… For instance, earlier the hard outer wood of the
palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28) .……… the
introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ….., plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). …… used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017

 
Choose the option which can be used to complete the sentence (26)

 

[Question ID = 18125]

1. integral [Option ID = 42493]
2. irrelevant [Option ID = 42497]
3. sustainable [Option ID = 42494]
4. small [Option ID = 42500]

Correct Answer :-
integral [Option ID = 42493]

Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). …………….. part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasad in temples and toddy. But over the years, these utilities have become (27). ……..… For instance, earlier the hard outer wood of the
palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28) .……… the
introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ….., plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). …… used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017

 

Choose the option which cannot be used to complete the sentence (30)

 

[Question ID = 18137]

1. often [Option ID = 42539]
2. frequently [Option ID = 42542]
3. seldom [Option ID = 42548]
4. repeatedly [Option ID = 42545]

Correct Answer :-
seldom [Option ID = 42548]
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Could the increasing deaths of agricultural workers be because of a lack of palm trees in the vicinity of fields? Previously, palm trees
were an (26). …………….. part of Odisha village life due to their multiple uses - building houses, making umbrellas, utensils for offering
prasad in temples and toddy. But over the years, these utilities have become (27). ……..… For instance, earlier the hard outer wood of the
palm trunk was used for constructing the framework of roofs, household posts and pillars of thatched houses. But (28) .……… the
introduction of asbestos and iron poles, they are no longer required for homes. Different types of vessels, which were used in agricultural
activities, were made from palm leaves. (29). ….., plastic containers have replaced them. Traditional umbrellas woven from palm leaves
(30). …… used by farmers during the monsoon have been replaced by either raincoats or modern umbrellas.

Down to Earth, 16-21 December, 2017

 

Choose the option which can be used to complete the sentence (29)

 

[Question ID = 18136]

1. Nevertheless [Option ID = 42535]
2. Because [Option ID = 42538]
3. If [Option ID = 42532]
4. Now [Option ID = 42529]

Correct Answer :-
Now [Option ID = 42529]

Topic:- DU_J18_BELED_Topic07

 
 
The word ‘it’, repeatedly used in the above given passage, refers to the [Question ID = 18176]

1. morning [Option ID = 42698]
2. creeper [Option ID = 42696]
3. light [Option ID = 42697]
4. tendril [Option ID = 42695]

Correct Answer :-
tendril [Option ID = 42695]

 
 
Which of the following statements is not true about the relationship between the author and his Grandfather? [Question ID = 18175]

1. The author thought his grandfather to be a caring person [Option ID = 42691]
2. He thought his Grandfather had magical qualities [Option ID = 42693]
3. He rarely relished the company of his Grandfather [Option ID = 42694]
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4. He believed his Grandfather’s presence made the surroundings pleasant [Option ID = 42692]

Correct Answer :-
He rarely relished the company of his Grandfather [Option ID = 42694]

 
 
Which word in the passage means ‘to grow or hang downwards over something or along the ground’? [Question ID = 18179]

1. Drawing [Option ID = 42707]
2. Moving [Option ID = 42709]
3. Noticing [Option ID = 42708]
4. Trailing [Option ID = 42710]

Correct Answer :-
Trailing [Option ID = 42710]

 
 
Through this passage, the author wants to convey that [Question ID = 18178]

1. a garden becomes a happy place when several creepers are planted [Option ID = 42706]
2. a creeper likes to be in the company of old people [Option ID = 42704]
3. there is a scientific explanation about how plants move towards sunlight [Option ID = 42703]
4. there is a strong bond between him and his Grandfather [Option ID = 42705]

Correct Answer :-
there is a strong bond between him and his Grandfather [Option ID = 42705]

 
 
The phrase ‘gazed in fascination’ from the passage means: [Question ID = 18177]
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1. To stare at something in bewilderment [Option ID = 42702]
2. To look casually [Option ID = 42700]
3. To look fixedly at something in awe [Option ID = 42699]
4. To look with deep longing [Option ID = 42701]

Correct Answer :-
To look fixedly at something in awe [Option ID = 42699]

Topic:- DU_J18_BELED_Topic08

 
 
Which phrase from the passage means ‘having or showing good taste or judgement’? [Question ID = 18290]

1. radical transformation [Option ID = 43153]
2. inevitable consequence [Option ID = 43151]
3. discerning eye [Option ID = 43152]
4. drawn across [Option ID = 43154]

Correct Answer :-
discerning eye [Option ID = 43152]

 
 
Which statement is not suggested in the above given passage? : [Question ID = 18292]

1. Food often continues to remain and survive beyond geographical divisions [Option ID = 43162]
2. August 1947 was a period which rendered many homeless [Option ID = 43161]
3. Stories and memories of home, food and laughter are passed on from one generation to other [Option ID = 43159]
4. Refugees should decide which side of the line should their home be [Option ID = 43160]
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Correct Answer :-
Refugees should decide which side of the line should their home be [Option ID = 43160]

 
 
‘Human beings are tenacious creatures’. The word ‘tenacious’ refers to the idea that [Question ID = 18289]

1. they are overworked [Option ID = 43148]
2. they are determined and don’t give up easily [Option ID = 43147]
3. they cannot keep up with the changes around them [Option ID = 43149]
4. they have the tendency to lose what they have easily [Option ID = 43150]

Correct Answer :-
they are determined and don’t give up easily [Option ID = 43147]

 
 
In the context of the passage, which of the following statements about food cannot be directly deduced? [Question ID = 18291]

1. Mothers are described as having the knack of nurturing food [Option ID = 43157]
2. Food is an important experience that survives across generations [Option ID = 43156]
3. Food is a significant element of culture [Option ID = 43155]
4. Food cannot help in bridging ties with other nations [Option ID = 43158]

Correct Answer :-
Food cannot help in bridging ties with other nations [Option ID = 43158]
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What is the ‘inevitable consequence’ referred to in the passage? [Question ID = 18288]

1. All were forced to remain within the country of their birth [Option ID = 43146]
2. Many had been lost in the new countries [Option ID = 43145]
3. There was a new boundary [Option ID = 43143]
4. Many people were displaced [Option ID = 43144]

Correct Answer :-
Many people were displaced [Option ID = 43144]

Topic:- DU_J18_BELED_Topic09

[Question ID = 18323]

1.  [Option ID = 43286]

2.  [Option ID = 43284]

3.  [Option ID = 43283]

4.  [Option ID = 43285]

Correct Answer :-

 [Option ID = 43285]

[Question ID = 18343]

1.  [Option ID = 43366]
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2.  [Option ID = 43364]

3.  [Option ID = 43363]

4.  [Option ID = 43365]

Correct Answer :-

 [Option ID = 43363]

[Question ID = 18338]

1.  [Option ID = 43344]

2.  [Option ID = 43345]

3.  [Option ID = 43343]

4.  [Option ID = 43346]

Correct Answer :-

 [Option ID = 43345]

[Question ID = 18341]

1.  [Option ID = 43355]

2.  [Option ID = 43356]

3.  [Option ID = 43358]

4.  [Option ID = 43357]

Correct Answer :-

 [Option ID = 43355]

[Question ID = 18317]

1.  [Option ID = 43259]

2.  [Option ID = 43260]

3.  [Option ID = 43262]
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4.  [Option ID = 43261]

Correct Answer :-

 [Option ID = 43260]

[Question ID = 18315]

1.  [Option ID = 43251]

2.  [Option ID = 43252]

3.  [Option ID = 43253]

4.  [Option ID = 43254]

Correct Answer :-

 [Option ID = 43252]

[Question ID = 18314]

1.  [Option ID = 43249]

2.  [Option ID = 43250]

3.  [Option ID = 43247]

4.  [Option ID = 43248]

Correct Answer :-

 [Option ID = 43247]

[Question ID = 18339]

1.  [Option ID = 43348]

2.  [Option ID = 43349]

3.  [Option ID = 43350]

4.  [Option ID = 43347]

Correct Answer :-

 [Option ID = 43348]
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[Question ID = 18302]

1.  [Option ID = 43201]

2.  [Option ID = 43202]

3.  [Option ID = 43200]

4.  [Option ID = 43199]

Correct Answer :-

 [Option ID = 43200]

[Question ID = 18303]

1. 4/25 [Option ID = 43203]
2. 3/25 [Option ID = 43204]
3. 1/25 [Option ID = 43206]
4. 2/25 [Option ID = 43205]

Correct Answer :-
4/25 [Option ID = 43203]

[Question ID = 18305]

1. 540 [Option ID = 43214]
2. 127.75 [Option ID = 43211]
3. 182.25 [Option ID = 43212]
4. 98.5 [Option ID = 43213]

Correct Answer :-
182.25 [Option ID = 43212]

[Question ID = 18347]

1.  [Option ID = 43382]

2.  [Option ID = 43379]

3.  [Option ID = 43380]

4.  [Option ID = 43381]

Correct Answer :-

 [Option ID = 43379]
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[Question ID = 18345]

1.  [Option ID = 43371]

2.  [Option ID = 43374]

3.  [Option ID = 43372]

4.  [Option ID = 43373]

Correct Answer :-

 [Option ID = 43372]

[Question ID = 18342]

1.  [Option ID = 43361]

2.  [Option ID = 43359]

3.  [Option ID = 43362]

4.  [Option ID = 43360]

Correct Answer :-

 [Option ID = 43361]

[Question ID = 18299]

1. 33.33% [Option ID = 43190]
2. 50% [Option ID = 43189]
3. 25% [Option ID = 43188]
4. 40% [Option ID = 43187]

Correct Answer :-
33.33% [Option ID = 43190]

[Question ID = 18298]
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20)  

1. 10, 11, 12 [Option ID = 43186]
2. 11, 15, 12 [Option ID = 43185]
3. 10, 12, 15 [Option ID = 43184]
4. 11, 12, 13 [Option ID = 43183]

Correct Answer :-
10, 12, 15 [Option ID = 43184]

[Question ID = 18311]

1.  [Option ID = 43238]

2.  [Option ID = 43235]

3.  [Option ID = 43236]

4.  [Option ID = 43237]

Correct Answer :-

 [Option ID = 43237]

[Question ID = 18331]

1. CO2 [Option ID = 43317]
2. He [Option ID = 43318]
3. CH4 [Option ID = 43315]
4. H2 [Option ID = 43316]

Correct Answer :-
CH4 [Option ID = 43315]

[Question ID = 18326]

1.  [Option ID = 43298]

2.  [Option ID = 43296]

3.  [Option ID = 43297]

4.  [Option ID = 43295]

Correct Answer :-

 [Option ID = 43295]
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[Question ID = 18306]

1. 7 [Option ID = 43218]
2. 4 [Option ID = 43217]
3. 5 [Option ID = 43215]
4. 6 [Option ID = 43216]

Correct Answer :-
6 [Option ID = 43216]

[Question ID = 18344]

1.  [Option ID = 43370]

2.  [Option ID = 43367]

3.  [Option ID = 43369]

4.  [Option ID = 43368]

Correct Answer :-

 [Option ID = 43368]

[Question ID = 18336]

1.  [Option ID = 43338]

2.  [Option ID = 43335]

3.  [Option ID = 43336]

4.  [Option ID = 43337]

Correct Answer :-

 [Option ID = 43337]

[Question ID = 18300]

1.  [Option ID = 43194]
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2.  [Option ID = 43192]

3.  [Option ID = 43193]

4.  [Option ID = 43191]

Correct Answer :-

 [Option ID = 43191]

[Question ID = 18351]

1.  [Option ID = 43395]

2.  [Option ID = 43397]

3.  [Option ID = 43396]

4.  [Option ID = 43398]

Correct Answer :-

 [Option ID = 43396]

[Question ID = 18340]

1.  [Option ID = 43353]

2.  [Option ID = 43351]

3.  [Option ID = 43352]

4.  [Option ID = 43354]

Correct Answer :-

 [Option ID = 43354]

[Question ID = 18319]

1.  [Option ID = 43267]

2.  [Option ID = 43270]

3.  [Option ID = 43269]

4.  [Option ID = 43268]

Correct Answer :-

 [Option ID = 43268]
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28)  

29)  

[Question ID = 18322]

1. 125 kWh [Option ID = 43281]
2. 12.5 kWh [Option ID = 43280]
3. 0.50 kWh [Option ID = 43279]
4. 500 kWh [Option ID = 43282]

Correct Answer :-
12.5 kWh [Option ID = 43280]

[Question ID = 18321]

1.  [Option ID = 43276]

2.  [Option ID = 43275]

3.  [Option ID = 43278]

4.  [Option ID = 43277]

Correct Answer :-

 [Option ID = 43276]

[Question ID = 18334]

1.  [Option ID = 43329]

2.  [Option ID = 43328]
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30)  

31)  

32)  

3.  [Option ID = 43327]

4.  [Option ID = 43330]

Correct Answer :-

 [Option ID = 43327]

[Question ID = 18307]

1.  [Option ID = 43220]

2.  [Option ID = 43221]

3.  [Option ID = 43219]

4.  [Option ID = 43222]

Correct Answer :-

 [Option ID = 43222]

[Question ID = 18330]

1.  [Option ID = 43313]

2.  [Option ID = 43314]

3.  [Option ID = 43312]

4.  [Option ID = 43311]

Correct Answer :-

 [Option ID = 43311]
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33)  

34)  

35)  

[Question ID = 18308]

1.  [Option ID = 43226]

2.  [Option ID = 43223]

3.  [Option ID = 43224]

4.  [Option ID = 43225]

Correct Answer :-

 [Option ID = 43225]

[Question ID = 18294]

1.  [Option ID = 43170]

2.  [Option ID = 43168]

3.  [Option ID = 43169]

4.  [Option ID = 43167]

Correct Answer :-

 [Option ID = 43169]

[Question ID = 18325]

1.  [Option ID = 43291]

2.  [Option ID = 43293]

3.  [Option ID = 43292]

4.  [Option ID = 43294]

Correct Answer :-

 [Option ID = 43292]

[Question ID = 18301]

1.  [Option ID = 43196]
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36)  

37)  

38)  

2.  [Option ID = 43198]

3.  [Option ID = 43195]

4.  [Option ID = 43197]

Correct Answer :-

 [Option ID = 43197]

[Question ID = 18313]

1.  [Option ID = 43246]

2.  [Option ID = 43243]

3.  [Option ID = 43245]

4.  [Option ID = 43244]

Correct Answer :-

 [Option ID = 43245]

[Question ID = 18335]

1.  [Option ID = 43333]

2.  [Option ID = 43331]

3.  [Option ID = 43334]

4.  [Option ID = 43332]

Correct Answer :-

 [Option ID = 43332]

[Question ID = 18352]

1.  [Option ID = 43401]

2.  [Option ID = 43400]

3.  [Option ID = 43402]

4.  [Option ID = 43399]

Correct Answer :-
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39)  

40)  

41)  

42)  

 [Option ID = 43399]

[Question ID = 18295]

1. 195 [Option ID = 43171]
2. 175 [Option ID = 43174]
3. 150 [Option ID = 43173]
4. 200 [Option ID = 43172]

Correct Answer :-
175 [Option ID = 43174]

[Question ID = 18349]

1.  [Option ID = 43388]

2.  [Option ID = 43387]

3.  [Option ID = 43389]

4.  [Option ID = 43390]

Correct Answer :-

 [Option ID = 43388]

[Question ID = 18304]

1. 360 [Option ID = 43209]

2.  [Option ID = 43210]
3. 720 [Option ID = 43208]
4. 120 [Option ID = 43207]

Correct Answer :-
720 [Option ID = 43208]

[Question ID = 18327]

1. CO2 [Option ID = 43301]
2. He [Option ID = 43302]
3. H2 [Option ID = 43300]
4. O2 [Option ID = 43299]
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44)  

45)  

46)  

Correct Answer :-
H2 [Option ID = 43300]

[Question ID = 18320]

1.  [Option ID = 43274]

2.  [Option ID = 43272]

3.  [Option ID = 43273]

4.  [Option ID = 43271]

Correct Answer :-

 [Option ID = 43273]

[Question ID = 18312]

1. 1496 [Option ID = 43240]
2. 1969 [Option ID = 43239]
3. 1379 [Option ID = 43241]

4.  [Option ID = 43242]

Correct Answer :-
1496 [Option ID = 43240]

[Question ID = 18348]

1.  [Option ID = 43386]

2.  [Option ID = 43384]

3.  [Option ID = 43385]

4.  [Option ID = 43383]

Correct Answer :-

 [Option ID = 43386]
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49)  

50)  

[Question ID = 18310]

1.  [Option ID = 43232]

2.  [Option ID = 43234]

3.  [Option ID = 43231]

4.  [Option ID = 43233]

Correct Answer :-

 [Option ID = 43232]

[Question ID = 18296]

1.  [Option ID = 43178]

2.  [Option ID = 43176]

3.  [Option ID = 43177]

4.  [Option ID = 43175]

Correct Answer :-

 [Option ID = 43178]

[Question ID = 18297]

1. 13 [Option ID = 43182]
2. 12 [Option ID = 43181]
3. 10 [Option ID = 43179]
4. 11 [Option ID = 43180]

Correct Answer :-
10 [Option ID = 43179]

[Question ID = 18333]

1.  [Option ID = 43325]

2.  [Option ID = 43323]

3.  [Option ID = 43324]

4.  [Option ID = 43326]

Correct Answer :-

 [Option ID = 43323]
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53)  

[Question ID = 18318]

1.  [Option ID = 43263]

2.  [Option ID = 43266]

3.  [Option ID = 43265]

4.  [Option ID = 43264]

Correct Answer :-

 [Option ID = 43264]

[Question ID = 18350]

1.  [Option ID = 43393]

2.  [Option ID = 43394]

3.  [Option ID = 43392]

4.  [Option ID = 43391]

Correct Answer :-

 [Option ID = 43394]

[Question ID = 18337]

1.  [Option ID = 43341]

2.  [Option ID = 43339]

3.  [Option ID = 43342]

4.  [Option ID = 43340]

Correct Answer :-

 [Option ID = 43341]

[Question ID = 18316]

1. 1 [Option ID = 43258]
2. 5 [Option ID = 43255]
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54)  

55)  

56)  

57)  

3. 3 [Option ID = 43256]
4. 2 [Option ID = 43257]

Correct Answer :-
3 [Option ID = 43256]

[Question ID = 18332]

1.  [Option ID = 43321]

2.  [Option ID = 43319]

3.  [Option ID = 43322]

4.  [Option ID = 43320]

Correct Answer :-

 [Option ID = 43321]

[Question ID = 18309]

1. 90 [Option ID = 43230]
2. 72 [Option ID = 43229]
3. 210 [Option ID = 43228]
4. 216 [Option ID = 43227]

Correct Answer :-
72 [Option ID = 43229]

[Question ID = 18328]

1.  [Option ID = 43303]

2.  [Option ID = 43306]

3.  [Option ID = 43304]

4.  [Option ID = 43305]

Correct Answer :-

 [Option ID = 43305]
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59)  

60)  

[Question ID = 18346]

1.  [Option ID = 43378]

2.  [Option ID = 43376]

3.  [Option ID = 43375]

4.  [Option ID = 43377]

Correct Answer :-

 [Option ID = 43377]

[Question ID = 18329]

1.  [Option ID = 43310]

2.  [Option ID = 43308]

3.  [Option ID = 43309]

4.  [Option ID = 43307]

Correct Answer :-

 [Option ID = 43307]

[Question ID = 18353]

1.  [Option ID = 43403]

2.  [Option ID = 43405]

3.  [Option ID = 43406]

4.  [Option ID = 43404]

Correct Answer :-

 [Option ID = 43405]
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[Question ID = 18324]

1.  [Option ID = 43288]

2.  [Option ID = 43290]

3.  [Option ID = 43287]

4.  [Option ID = 43289]

Correct Answer :-

 [Option ID = 43290]
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